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PRGEN ZRE R UHEA R (LUVERIE

X125 F R R EFE DO SR ERT
X2NSFERREFEROBAERA
X3 1SR ERTRIE R D REB D &R EREME
X4 25 IR F B E B DR E D & BIERERE

RS JERNEE
#l & B 4878 48288 58198  6H9H | 7H13H 8H4H 8HA25H 9A6H | 9A208 | 10868 118178 12818 128158 18188  2H27H 3H16H
A E B BHER BEfI 48258 5H238  686H 6H23H 7H298 8A30H 9H298 9H29H 108128 108288 12H1H 128208 128278 18318 38130 | 38308
PRBEN RRE (RIEER D) °c 984 993 974 = 955 983 = 952 = = 936 968 968 979 1066 1001
BB XRE (RE#HAD) °c 170 170 169 = 170 170 = 169 = = 170 170 170 170 170 170
ERHH AP DCoRE ppmM 35 1.9 3.8 = 2.7 2.5 = 1.8 = = 0.9 1.3 1.9 19 3.3 2
B AR 2 (B2 F) mN/h 33,000 | 36,000 = 37000 = 34000 | 31,000 = 35,000 = = 25000 | 40,000 & 38,000 | 33000 | 30,000 | 41000
B A RRECEY) °c 205 202 204 = 206 200 = 201 = = 205 202 201 202 199 200

| BLCARE g/mN | <0002 | <0002 | <0.002 - <0.002 | <0.002 - <0.002 - - <0002 | <0002 | <0002 <0002 <0002 <0.002

5 [EVCARE(O2 #EfE) g/mMN | <0002 | <0.002 <0.002 = <0002 | <0.002 = <0.002 = = <0002 <0002 <0002 <0002 <0002 | <0.002

a HERLYRE volPPm | 2.000 <1 1 - 4.000 <1 - 10.000 - - 1.000 <1 <1 7 3000 = 2.000
mERBRILHELEE mN/h 0.060 | <0.036 = 0.044 = 0.130 | <0.031 - 0.330 = = 0.031 <004 | <0038 | 023 0.092 0.065
ERBCMRE volPPm 23 <1 36 - 19 22 - 19 - - 16 10 8 27 17 22
ZRBILMEEQO2 EE) | volPPm 17 <1 25 - 13 16 - 13 - - 12 7 6 19 12 16
BIEKRRE mg/mN 48 31 34 - 45 27 - 5 - - 19 40 13 5 37 43
BIEKFREO2 EE)  meg/mN 35 21 24 - 34 18 - 4 - - 14 27 9 3 26 30
PRBEN RRE (RIEEL D) °c 961 985 959 963 = 971 968 = 943 934 931 = 941 948 = 954
BB RRE (RE#HAD) °c 170 170 170 170 = 170 170 = 170 170 170 = 170 170 = 170
ERHFEH AP DCoRE ppm 5.2 5.8 4.7 2.3 = 2.8 16 = 18 2.6 14 - 1.8 13 - 1.7
B AR 2 (B2 F) mN/h 33,000 | 33,000 @ 31,000 | 35000 = 37000 | 36,000 = 35000 | 37,000 | 29000 = 35000 | 32000 = 40000
B A RRECEY) °c 200 200 200 201 = 198 202 = 202 203 202 - 205 200 - 197

, BVCARE g/mN | <0002 | 0012 | 0002 | <0.002 - <0.002 | <0.002 - <0.002 | <0002 | <0.002 - <0.002 | <0.002 - <0.002

5 [EVCARE(O2 #EfE) g/mN | <0002 | 0008 | 0002 | <0.002 = <0002 = <0.002 = <0002 | <0002 <0.002 = <0002 | <0.002 = <0.002

a HERLYRE volPPm <1 4000 | 24.000 <1 - 1 <1 - <1 <1 <1 - <1 <1 - 21.000
HEB LS mN/h <0.033 | 0.120 0730 | <0.035 = 0051 | <0.036 = <0.035 | <0.037 <0.029 = <0.035 = <0.032 = 0.85
ERBCMRE volPPm 22 27 25 25 - 33 17 - 18 26 26 - 3 5 - 7
ERMIEMEE02 BEE) | volPPm 15 17 18 17 - 22 12 - 12 18 18 - 2 4 = 5
BIEKRRE mg/mN 28 29 12 16 - 25 13 - 16 65 26 - 16 13.0 - 47
BIEKFREO2 EE)  meg/mN 20 20 8 15 - 18 9 - 12 46 18 - 11 9 - 32
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